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45Wkh gdwd lv ghvfulehg lq pruh ghwdlo lq wkh dsshqgl{1
46Lq wkh _Eduur0Uxvk% vshfl�fdwlrq/ wkh yhfwru ri uhjuhvvruv {w�4 lqfoxghv d frqvwdqw/ wkh xqhpsor|0

phqw udwh/ dqg wkh frqwhpsrudqhrxv uhdo ihghudo h{shqglwxuh wr qrupdo h{shqglwxuh1 Lq wkh _Prgl�hg
Plvknlq% vshfl�fdwlrq/ {w�4 frqwdlqv d frqvwdqw/ odjjhg fkdqjhv lq prqh|0vxsso|/ odjjhg fkdqjhv lq wkh
wuhdvxu|0eloo udwh/ dqg odjjhg ydoxhv ri wkh ihghudo jryhuqphqw*v exgjhw vxusoxv1 Wkh _Rswlpdo% vshf0
l�fdwlrq lqfoxghv ydulrxv hohphqwv ri wkh deryh yduldeohv dv zhoo dv odjjhg ydoxhv ri wkh fkdqjhv lq wkh
prqhwdu| edvh1

47Uhvxowv duh dydlodeoh xsrq uhtxhvw +wkhvh uhvxowv duh jlyhq lq wkh suhylrxv yhuvlrq ri wklv sdshu/ Udyq
dqg Vrod/ 4<<9,1

48Lw dovr wxuqv rxw wkdw/ rqfh rqh fruuhfwv iru wkh suhvhqfh ri wkh rxwolhu/ wkh uhvxowv rq dv|pphwulf
h�hfwv duh qr orqjhu ydolg1 Vshfl�fdoo|/ rqh fdq lq wklv fdvh qr orqjhu uhmhfw d k|srwkhvlv wkdw wkh srvlwlyh
dqg qhjdwlyh vkrfnv kdyh wkh vdph h�hfw rq rxwsxw dqg wkdw wkh| duh qhxwudo1 Ghwdlov rq uhvxowv duh
jlyhq lq Udyq dqg Vrod/ 4<<9/ wdeoh 61

49Ehorqjld +4<<9, grfxphqwv dqrwkhu sureohp zlwk wkh dv|pphwu| uhvxow iru wkh XV gdwd1 Ehorqjld
+4<<9, vkrzv wkdw li rqh xvhv d glylvld lqgh{ iru wkh prqh|0vwrfn/ wkhq rqh fdqqrw uhmhfw wkh k|srwkhvlv
wkdw srvlwlyh dqg qhjdwlyh prqh|0vxsso| vkrfnv kdyh v|pphwulf h�hfwv1
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4:Zh dovr h{shulphqwhg zlwk lqfoxglqj wkh xqhpsor|phqw udwh exw wklv yduldeoh glg qrw d�hfw wkh
uhvxowv1 Lw vkrxog dovr eh qrwhg wkdw zh kdyh qrw lqfoxghg wkh lqgh{ ri vhqvlwlyh frpprglw| sulfhv wkdw
Fkulvwldqr/ Hlfkhqedxp dqg Hydqv +4<<9, lqwurgxfh lq rughu wr dgguhvv wkh _sulfh sx}}oh%1 Wklv lvvxh lv
qrw lpsruwdqw iru rxu dqdo|vlv1
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rqh plqxv hdfk ri wkh gldjrqdo hohphqwv1
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